
Negative Zahlen

Multiplikation bis 100
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4
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1 a)
(+48) (-2) = b)

(-4) (+24) =

c)
(-14) (-5) = d)

(+5) (-20) =

e)
(-11) (+6) = f)

(-3) (-26) =

2 a)
(+30) (-2) = b)

(-6) (+13) =

c)
(-17) (-5) = d)

(+3) (-20) =

e)
(-18) (+5) = f)

(-7) (-8) =

3 a)
(+29) (-2) = b)

(-3) (+25) =

c)
(-25) (-4) = d)

(+3) (-22) =

e)
(-34) (+2) = f)

(-9) (-9) =

4 a)
(+11) (-8) = b)

(-2) (+48) =

c)
(-13) (-5) = d)

(+6) (-14) =

e)
(-36) (+2) = f)

(-4) (-23) =

5 a)
(+21) (-3) = b)

(-2) = -60

c)
(-9) = 99

d)
(+5) (-18) =

e)
(-40) = -80

f)
(-15) = 90
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1 a)
(+48) (-2) = -96

b)
(-4) (+24) = -96

c)
(-14) (-5) = 70

d)
(+5) (-20) = -100

e)
(-11) (+6) = -66

f)
(-3) (-26) = 78

2 a)
(+30) (-2) = -60

b)
(-6) (+13) = -78

c)
(-17) (-5) = 85

d)
(+3) (-20) = -60

e)
(-18) (+5) = -90

f)
(-7) (-8) = 56

3 a)
(+29) (-2) = -58

b)
(-3) (+25) = -75

c)
(-25) (-4) = 100

d)
(+3) (-22) = -66

e)
(-34) (+2) = -68

f)
(-9) (-9) = 81

4 a)
(+11) (-8) = -88

b)
(-2) (+48) = -96

c)
(-13) (-5) = 65

d)
(+6) (-14) = -84

e)
(-36) (+2) = -72

f)
(-4) (-23) = 92

5 a)
(+21) (-3) = -63

b)
(-2) (+30) = -60

c)
(-11) (-9) = 99

d)
(+5) (-18) = -90

e)
(-40) (+2) = -80

f)
(-6) (-15) = 90
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